Please, if it is possible to also tell me the steps to solve this equation. I really do have hard time understanding the entire concept.
Solve each system by graphing:

1) y=2x

    y=-x+3

2)  y=2x-1

     2y=x-2

3)  3y-3x=9

      x-y=1

4)  y=x-5

     2x – 5y=1

5)  y=x+4

      3y-5x=6

6)  x-y=5

      3y-5x= 6

7) x-y =5

    2x=2y=14

8) 2x-y=4

     2x=4x-6

Solve each system by addition method.

9)  x+y=7

     x-y=9

10) x-y=12

      2x=y=3

11) -3x+5y=13

       9x – 3y=5

12) 2x-2y=13
       3x=4y= -15

